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9-1 =


98 – 21 = 


987 – 321


9876 – 4321 =


98765 -54321 = 


WHAT DO YOU THINK COMES NEXT?
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1 X 9 + 2 = 


12 X 9 + 3 = 


123 X 9 + 4 =


1234 X 9 + 5 =


12345 X 9 + 6 = 


What do you think comes next?
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1 X 8 + 1 =


12 X 8 + 2 = 


123 X 8 + 3 = 


1234 X 8 + 4


12345 X 8 + 5 = 


What do you think comes next?
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9 – 1 =


98 – 21 = 


987 – 321 = 


9876 – 4321 = 


98765 – 54321 =


What do you think comes next?
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9 X 9 = 


98 X 9 = 


987 X 9 = 


9876 X 9 =


98765 X 9 =


What do you think comes next?


 





�











9 X 9 +7 =  


98 X 9 + 6 = 


987 X 9 + 5 = 


9876 X 9 + 4 = 


98765 X 9 +3  = 


What do you think comes next?
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9 X 9 + 7 =


98 X 9 + 6 =


987 X 9 + 5 =


9876 X 9 + 4 = 


98765 X 9 + 3 =


What do you think comes next?


 








